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db.catalog.find( { _id : 375 } , { en_US : true } );
db.catalog.find( { _id : 376 } , { zh CN : true } );
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{ { {
_id: 375 _id: 375 _id: 375
en US : { name : ...}, > en US : { name : ...}, en US : { name : ...},
zh CN : { name : ...}, > zh CN : { name : ...},
es ES : { name : ...}, es ES : { name : ...},
} } }
{ { {
_id: 376 > _id: 376 _id: 376
en US : { name : ...}, en US : { name : ...},
zh CN : { name : ...}, > zh CN : { name : ...}, zh CN : { name : ...},
@8BS ¢ | mEme 8 ool @8 ES ¢ | mame ¢ ool
} } }
{
_id: 378
en US ¢ { mame ¢ ..ol
zh CN : { name : ...},
@8BS ¢ | mEme ¢ ooy
}
Disk RAM Client
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{ _id: “375-en US”, name : ..., <etc...>}
{ _id: "375-zh CN", name : ..., <etc...>}
{ _id: "375-fr FR", name : ..., <etc...> }
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t creator id: “xxxxx”,
7> status: “MongoDB 2.8 rcl b,-Zi:l
} t _id: “xxxxx”,
{ - friends: [ “YYYYY"/ AT T ]
creator_id: “yyyyy”, }
status: “K{EBFo. o o 7
}
KB FRIDIS
) db.status.find( { creator _id| { $in: [array-o-friends] } } ).sort({ _id:
-1}) .
N RIGER
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creator id: “xxxxx”,

id: “xxxxx”

‘;~ friends: [ “yyyyy”, “zzzzz” ]

friends: [ “yyyyy”, “zzzzz” ],

B FRIBHS

db.status.find( { friends: “xxxxx” } ).sort({ _id: -1 } )
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100 A%1ExE, 4 A1 John Smith igR

first name: “John”,
last name: “Smith”,
phone: “15838247283"

db.phonebook.find( { first name: “John”, last_ name:
“Smith” } )
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> db.phonebook.find({first_ nhame:'jJohn’, lasi: name:'Smith'}).explain()
{

“cursor" : "BasicCursor”,

"isMultiKey" : false,

"n" : 40001,

"ns:anpnr]ﬂhinrfc" (B WaYaYaYaYaYa)

LA A a5 B AL s y 4

"nscanned" : 1000000,
"nscannedUbjectsAiiPians™ : 1000000,
"nscannedAllPlans" : 1000000,
"scanAndOrder" : false,

"indexOnly" : false,

"nYields" : 7812,

"nChunkSkips" : 0.

"millis" : 760,

“server' T "MacBook-Pro-i3tiocal: 27017

"filterSet" : false

mongoDB
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db.phonebook.ensurelndex({first hame:1})

> db.phonebook.find({first_ name:'John’, last_name:'Smith'}).explain()
{

“cursor" : "BtreeCursor first_name_1",

"isMultiKey" : false,

"n" : 40001,

"l@scan!‘\ndnhinrfc" s 2NNARGEN

e e e e

"nscanned" : 200360,
"nsCannedUBjectSAIIPIans™ © 200300,
“nscannedAllPlans" : 200360,
"indexOnly" : false,
“n¥ialde" ;. JEGE
"millis" : 247,
“iIndexBounds” i {
“first name" : [
[
"John",
"John"

1
}

"server" : "MacBook-Pro-13.local:27017",

mongoDB
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db.phonebook.ensurelndex({last name:1})

> db.phonebook.find({first_ name:'John’, last_name:'Smith'}).explain()

{
“cursor" : "BtreeCursor last_name_1",
"isMultiKey" : false,
"n" .- 40001,
"nscannedObjects" : 89925,
"nsCanned  : 89925,
"nscannedObjectsAllPlans" : 89925,
"nscannedAllPlans" : 89925,
"scanAndOrder" : false,
"indexOnly" : false,
"nYields" : 702,
"n(‘hunI(QI(ipc" . n;
"millis" : 125,
"ThaexBounds ™ :
"last_ name" : [
[
"Smith",
"Smith"
1
1
}
"server" : "MacBook-Pro-13.local:27017",
"filterSet" : false

mongoDB
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db.phonebook.ensurelndex({last name:1,
first name:1})

> db.phonebook.find({first_ name:'John’, last_name:'Smith'}).explain()

{

“"cursor" : "BtreeCursor last_name_1_first_name_1",
"isMultiKey" : false,
“n" : 40001,
“necannedOhiacts™ : 40001
"nscanned" : 40001,
“nscannedUbjectsAiliPilans™ : 40102,
"nscannedAllPlans” : 40103,
"nYields" = 312
"millis" : 49,
"maexpoundads™ T {
"last_name" : [
[
"Smith",
"Smith"
1
1,
“first_name" : [
[
“"John",
“John"

}

mongoDB
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> db.stats()

{
Ildbll : lltestll'

"indexes" : 5,
"indexSize" :
1i3190720,

114

ok":1

mongoDB
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4KB/doc x 1000000 docs/day x 30days
__120GB

FmBER:

100KB/doc x 100,000 docs = 10GB
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> db.serverStatus({workingSet:1})
{
"workingSet" : {
"note" :
"thislsAr Estimate",
"pagesinviemory - 40707,

"computationTimeMicros" : 7897,
"overSeconds" : 9082

}

pagesinMemory x 4096
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VS.
HDD SSD
B&EI71R] (IOPS) 125 12000 (100x)
[ERE4S] ~100MB/s ~200MB/s (2x)
(Throughput)
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40TB / 2TB = 20

A= FREFMRSE /| BIRSHBEEHS
=

B= T{E&EX/) /| REIRZFIAEFEEE 2TB / 64G = 32
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Email 5
{
_1d: ObjectId(),
user: 123,
time: Date(),
subject: “...”,
recipients: [],

body: “...”,

attachments: []
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